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1. Two hundred esghty-three more than a mumber = 475,
What is the mumber?

= A mumber decrantsd by 75 8 307, Fnd the tarmisar

X O bundred sixty-ome more than a moaybeer is 520, Whet
is the nurmiber?

% Foar hundred thirty-fise less than & membsr s 363, Fnd
EheE riarrbsEr.

* & mumibsr increacsed by 164 = 425, Find the numbaer,

u Than sum of a number ad 375 s 803, Find thee nambser,

T The s=urm of a numbes amd 258 is &22 . Find the nomibssr.

® A rumibar increagad by 343 s 558, Find the numbar,
L A munsber decranisd by 93 8 61. Find the aombsr.
= Ol Prundred tvesnby -cnen reore than @ mierier s 393,

What = the numbar?
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